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ent is wrong with reference 0 Vikram — S ?

1. Which of the following Stat?m o
(A) The mission Was titled ‘Praramo | >
(B) Itis India’s first privately developed rocket.
(C) It was launched by DRDO.
(D) It was launched from Sriharikota.

Conference on e-Governance’ was hosted by Jammu and Kaghp;, . o

conference was held in which place ?
(C) Srinagar (D) Udhampur

2. 25% “National
Mmm
(A)hqm (B) Katra

ters ﬁmm the Indo-Pak border. Deesa is in which State/Union Territory ?
E (B) Jammu and Kashmir

8(1)) Punjab

: H:I

ent lS/ﬂl'e corrgH W1th respect to India’s G-20 presidency :

e
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reference t0 Mission Amrit Sarovar ?

7. Which of the following statement is Wrong with

None of these ’
. E y Amrit Sarovar will have a pondage area of at least 1 rzlcrS b
. | i vars.
g)) Ev:z district of the country will construct at leagt 100 Amrit 5aro o
(D) Every Amrit Sarovar will be surrounded by trees like Neem, Peepal etc.
gned a memorandum of understap ding

X . : P) si
United Nations Environment Program (UNEP) s B e following problems ?

& .
with National Cadet Corps (NCC) to tackle which o |
(A) All of these (B) Air pollution (C) Noise pollution (D) Plastic pollutioy

9.  Hari Balakrishnan, a computer scientist was recently awarded with which of the following

Award/Prize ?
(A) Albert Einstein Prize
(C) India Science Award

(B) Marconi Prize
(D) Ho Chi Minh Prize

10. Name the world famous space scientist Who despite being paralysed for nearly thr
- decades took a zero gravity flight in 2007. g ' ‘ Sy

(A) \V .ohamed E}baradel m(B) Stephen HaWki.ng
- (C) Jerry Shay 3 ! E(D) Abdus Salem

) 'Q}‘eated.the Guinness World Record for the
ters. It is constructed between which two

d u'(B) Ahmednagar and Akola
(D) Nashik and Nagpur

| Nov 19, 20251
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7. &3 ABREIT RJY M owoDATod 8 d¥nG odns Bewd BTN ?
(A) [RNTQ, CITR 5,
(B) B )3 IARTTB DY eroF 8RR | 8Sesnndo3ds.
(€) T3 T8 RJoDQ BR 100 93y 3 HlpeOnviy AaF RT3,
(D) S )3 FARTOR) eIy, 909 Somn woReons BHBESOTIBE.

/a/ QoY TOXT FADF YO (UNEP) T, W IR T (NCC)Snolrt &4 89N cdn
TDF, 1 TOTOT FoRBBRTLD wBowAE IRRgRRT ?

(A) |SRP (B) o0 RndF,  (C) B RROF, (D) TRAF IR,
9. SORRUC' JFPRCINT TO PUYTITION w@edt B3 TINT CINT TIHT TIY

JYTWOS, Ve& MPOIRTONTS 2

(A) COEF TR TB (B) RngRerd TJN

(C) 08 DS TR (D) Bree Be W T3

 Sed TINe o w3 FOINAR LYNGOR B, 2007 T 3eF,
ROCOTIRFES F, 85 (zero gravity flight) agkd BTG, I, 7B DEPRC), BHOR.
(A) FRTOT' QVTOES* E (B) A" Hodon®
(C) 280r e : = (D) e p{olovey
: ' m%eo:‘aﬁa%c TRPTTY) (NHAJ%IS 8.20¢. YT0ZTIN 2.0T3e THFTY_ TF AFR
r- NQF D3, TRDGODRY FARD. 31 TSR DWOFR INI TR VYW DY,
. doFRoNd? i
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(D) SoA%* m&_:. aarbud
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current RBI Governor (2023) is
e Shri Shaktikanta Das (B) Dr. D. Subbara®
Eg)) ls;r Raghuram Rajan (D) Dr. Urjit R. Patel

14.

15. Al India services can be created by () Prine Miniss;

(A) Parliament (B) President (C) UPSC

16. Which gas is used as coolant in cold storages ?

(A) Chlorofluorocarbon (B) Nitrogen
(C) Carbon dioxide (D) Ammonia
17. Most of Oxygen on earth is produced by :
(A) Paddy fields (B) Grasses (C) Algae (D) Trees

18. Number of tiger reserves located in Kamagca are\.. . _
i ®) 5 3 (© 4 le

rolled by

(B) Sensory Nerves
(D) Motor Nerves

Furésightka

(B) Theory of relativity
(D) Theory of special effect

(B) lﬂndra-worh Sea Link
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. : ?
.. Parishad come into existence 1919
: annada Sahitya Paris D)
. (W})le?;;l? o (B) 1915 (C) 1917
A

24.

28S.

26.

27.

29,

31.

ations took place in Karnataka.

Name the year when the first Mughal occup (D) 1650

(A) 1657 (B) 1640 (C) 1645

: ved i f
Scholars like Vasumitra, Ashwagosha and Nagarjuna lived 11*.1 the court OD iR
(A) Harshavardhana (B) Kanishka (C) Pulakeshi—1I  ( ja Raj

Nicolo Conti, an Italian traveller, visited Vijayanagara kingdom in 1420 in the Telgn of :'
(A) Sada Shivaraya (B) Krishnadevaraya (C) Deva Raya-I (D) Harihara |

Sir Thomas Roe, the second embassy to the court of

(A) Shah Jahan (B) Akbar (C) Babar (D) Jehangir |
E |

Krishnadevaraya was also a great poet and \85 known as

(A) Viranarayana ':.ﬂ (B) Andhra Bhoja

(C) Immadi Devaraya ifﬁ (D) Gajabetakara

e
The Belur temple was constructed by Hoysag)\/ishnuvardhana to commemorate his victory
over one of the following enemies : ro—

: w
(A) The Chalukyas  (B) The Cholas E (C) The Alupas (D) The Pandyas
O
Arrange the Diwans of Mysore given belowkra chronological order -
L. Arcot Ramaswamy Mudaliar
2. SirM. Visvesarayya
3- P Krishnamurthy

4. Mirza Ismail
(A) 3,4,1,2 (B)'1,2,3, 4 (€) 1,32, 4 D) 3,2. 4. 1
Which of the following Persons was the Reception C ‘
- 0 i
National Congress Session held in 1924 ? 4 7 i it the S

(é)_ GaﬂsﬂdharRao'Deshpmde (B) Dr. Hardikar
(C) Karnad Sadashiva Raq (D) S. Nijalingapp,

Space For Rough Work ~——  — ===
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(A) 1921 (B) 1915 (C) 1917 (D) 1919

24. FooFEn VRTL FPOF BIFOMN SBFE IRrRD RTHER.
o
(A) 1657 (B) 1640 (C) 1645 (D) 1650
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OI.Ith | and about km ﬁ‘()m

- S
32. Karnataka extends to about km from North to

o West.
S (B) 770 and 480

(A) 750 and 400
(C) 710 and 450 (D) 740 and 425 |

33. M’stotal geographical area :
(A) 1,61,757sq.km (B) 1,81,757 sq.km (C) 1,91,757 sq. km (D) 1,71,757 sq. km

34. Match following and select right one :

1. Dharwad a. Kalyana Karnataka

2. Raichur b. Old Mysore

3. Mandya c. Coastal Karnataka

4. Karwar d. Kitturu Kamataka |

(A) 1-d,2-8,3-b&4-c £ (B)1-b,223-c&4-d
©) 1-8,2¢,3-b&4d 8 (D) 1-d, 2-c, 3-b & 4-a
| , 5

ary betweg Gundlupet of Chamarajanagar district and
Nadulg ol i 3

B D) OMeyme (D) Kabani

(¥ Scanned with OKEN Scanner
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}6/ Do BRETFFS WIT S0RTD FLIBRT

. BooFetw) evd Pt
//m W CUI000T THOE TP 4 . it =B TR OT WY, Romwc

§.200¢. R3% 00, QAT

(A) 750 030400 (B) 770 =35 480 (C) 710 33450 (D) 740 3535425
BROF BT Lt tPRRews Tries

(A) 161,757 .800e. (B) 1,81,757 s.ac0e. (C) 1,901,757 w.800¢. (D) 1,71,757 t3.8005¢.

”

wna@wab TRODR O\ NGQimcSacsaa soh) TIna.

1. PoTE a. BUYm amrm
2. CoadbuRm b. & Sz
3. ®0oB c. BOORY FIoriis
4, uadmd d. 3R Ires
(A) 1-d, 2-a, 3-b R 4-c (B) 1-b, 2-a, 3-c B3 4-d
(©) 1-a,2-c,3-b 33 4-d E (D) 1-d, 2-¢, 3-b =¥y 4-a
&
A5 sboonsng 2o moom@es mod ammmaa BROBOO YD SR RACH),
CR&RTID
(C) oo’ (D) 39

(A) 803 (B) 308

Foresig htk

(A) OBTTT, ©OZTT, OTIFR,
(B) 30868, [owdB08,, SOTLRR,
(C) TRFOE, TR, HOHEL
(D) TPoR03, BROQTNAVT,, ToEITONE

BooF s 0o%, aaigdoa&séﬁ@mdaf RRODIY B03BR0RT 9

(A) 7 (B) 4 ©) 5 D) 6
o 3B Torgibars Syt Do, [SRA00 AT 99, 9135 wod.
(A) 1759 (B) 1799 (C) 1779 D) 1769 -
- Space For Rough Work
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llest :
stricts by their geographical area from largest to smalles
dupi, Ramanagara and Bengaluru Rural

Bengaluru Rural, Bengaluru Urban
Ramanagara, Bengaluru Urban
Bengaluru Urban, Kodagu
engaluru Urban ‘

39. Arrange the following di
Kolar, Bengaluru Urban, Kodagu, U
(A) Kolar, Kodagu, Udupi, Ramanagara,
(B) Bengaluru Rural, Kodagu, Udupi, Kolar,
(C) Ramanagara, Bengaluru Rural, Udupi, Kolar,
(D) Kodagu, Kolar, Udupi, Ramanagara, Bengaluru Rural, B

40. Read the following carefully and select right answer :
1. Larger part of the Karnataka state is a unique table land rising abruptly from coasta]
2. Karnataka plateau is formed recently.
3. The plateau of Karnataka is a part of peninsular plateau belonging to the ancient
4. The large landmass of Karnataka belongs to one of the major shields of the earth.
(A) All the statements are right. )
(B) 1%, 3" and 4" statements are right and 2"4G wrong.
0) 1%.2%, Wswementsarenghtand@lsﬁo ng.
@3 ﬂﬁaﬂd‘*’h atements are right and l%e 1s wrong

i B
: stafements carefully andielect the correct one pertaining to coastal

&
o] | |

Mglabar coast in the North and Konkan coast in the

(¥ Scanned with OKEN Scanner
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A N3 TEPFNER) TOOTRN 2.0, BToFess ﬁoaz%? ROWORDAT FOCIRTTR), o) Ina
) TRA.

_ I. 2z TR 50-60 3.00¢. nedd. O
2. Boam¢c KOO 305, FODRO :o‘am;:_;!'é'oaéd 00T 200 Q0¢. NOB BT,

ﬂ" 3. BIFUE BUEPOIY, VITHY TOVLRT* FoUEP OB T3ETY, 8oy FoomeadnodR
203D,
4. ‘B sorus soumvab, THRO PUMIL LB BITWA Y 13T D8I, T
PRI BTN,
(A) 2o Bewdnsd x0.
(B) 185 a2 2 Bewdnied 33 , TR 3¢ O 43¢ Tewdned 3o,
(C) 18 @33 25 BeBricd 50, w33 3¢ I 43¢ Bewdnish 3y .

__ (D) o Bevtrico 3=y,
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ioned in his inscriptions
£ Asoka generally mentione \ . ;
42. Thename o (B) Devanampiya Piyadasi

(A) Seema Seri .

An inseription on a pillar at Besnagar refers to

(A) Mahaparinibhana Sutlanta to erect stupa at the crossing of four highways -
chatummahapathe.

(B) Dakphises - I, the leader of Kushans.
(C) Helidorus, the Greek ambassador.
(D) Kadphises - II, who established the Saka era.

 44. During the Guptha period, land tax was the main source of revenue and was paid either in
cash or kind. It was known as
(A) Samantha (B) Bhagakara (C) Uparika (D) Panchamandala

45. Read the following statements :
Why coastal Karnataka has no large deltas s mparing to the East coast of India ?
: Select the right answer from below : %
.- __' L Emh most amive sou‘ﬂl-West monsﬁs that produces waves of greater heights.
TR ' s of greater height wash thﬁ_past and carry down the riverine loads into the

ever bring %ional- load.
e (B) Due to 1%, 2 and 4' statements.
ts. (D) Dueto 1%, 2™ and 3" gtatements.

ed in the earlier hymns of Rig Veda 10 mandala of
(B) Shatapatha Brahmana

(¥ Scanned with OKEN Scanner
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(B) m{fﬁ’u“ — I, 3030 pleve:. 3
(C) BORBReTx*, pess eplenuihnYs)
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(A) oo (B) »rzo (C) evo0s (D) owsssoore
45, 39NS Beosnosy 1.0, E
POUBT FPJF FTOREN BREOITT BToR sf'a%rasﬁaj DB BB IOV D TROVY_ ?
ROAREOTRY, 50k SR, L : ;
1. B3R 2308 eonvr wmOmR 63 c8emE 508, TRRRFTY BOHRmN.
2. B 2308 eoned sovdectn; PRI I S0k Bednusy ov NG
203, ZeS. 0

3. BYROE BOoI0S! SON aoam PV gec?odm% 3RO .
4. wBRE SOSHNTIT BIoF E38 FUOXVLL

(A) oo Beedrvomon.
(C) 28e, 3¢ 0B 4 BewdnwomoN.

(B) 13, 23 =030 43¢ Bewsriwomon.
(D) 18, 2e &) 3Fe Bewdnvomon.

' RRENYY, B 108 oBOTA)_ evededRenna.
—467 B0 eor IR, w0 TD 8008 AR OBOTA, evee
(A) mweo cogades  (B) s3m@ e () 0D (D) Foox Reg

AT So3os F08 BBEODY,, WSS Q0T I, TR MARERY LD ToXT QT BATD.

(A) B (B) 03EF (C) ARSI (D) oo o
== Wough Work
T 02 17 D3
» : 3 2 . ’ =
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48. Match the following ruling dynasties with their capitals :

a. Chandelas .  Warangal
b. Chauhans II. Malwa
c. Paramaras [I. Bundelkhand - Khajuraho
d. Kakathiyas IV. Shakambari
T N
@A v 1 1 1
@B, v I
© oo oIy
@ B m I IV

49. The Chisti order was introduced in India by
(A) Nizam-ud-in Auliya
(B) Shaikh Ahmed Abdul Haqq
(C) Khwaja Muin-ud-in Chisti
(D) Farid-ud-in g

50. ‘Whmhef the follmng pass is not lying in Pu@b Himalayan Longitudinal section ?

(A) ‘Bara Lapc (B) Zojila _@J) Rohtang (D) Pirpanjal
.|..r

51. 'Wh:da df ﬂle Gheﬂa rulers destroyed Anuradhwa, once the capital of Ceylon ?
: . - %) Rajendra Gangaikonda Chola
D) Kulottunga — I

o

1ch) is
(B) Tanjavur
D) Kaveripattanam (puhar)

a:ﬁtieof “Adwaraha ‘belonged to

i LL
from where they carried on a brisk trade, situated at the

2INS® ROM® ST RPTE.
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Select the correct sequence of the Islands of the Nicobar group 0

South direction.
(A) Car Nicobar, Little Nicobar, Great Nicobar, Teressa Island

(B) Great Nicobar, Little Nicobar, Teressa Island, Car Nicobar
(C) Little Nicobar, Teressa Island, Great Nicobar, Car Nicobar
(D) Car Nicobar, Teressa Island, Little Nicobar, Great Nicobar

f Islands from North to ‘

55.  Which among the following separates the Andaman and Nicobar groups of Islands ?

(A) Little Nicobar (B) Barren Island
(C) Ten Degree Channel (D) Andaman Sea

56. In the group of Andaman and Nicobar Islands the Duncan passage lies between

(A) Middle Andaman and South Andaman  (B) South Andaman and Little Andaman
(C) South Andaman and Middle Andaman (D) North Andaman and Middle Andaman

§7. Which of the following Islands of India is not a volcanic origin ?

(A) Teressa Island ) Kavaratti Island

(C) Car Nicobar Island - ) Barren Island
58. The largest Island in the group of LakshadweePdslands is

(A) Minicoy I_sl;and (B) Agatti Island ) Kavaratti Island (D) Suheli Island
9. In which of the following state/UT the Shipki £ and Bara Lapcha La passes are located

(A) Uttarakhand (B) Jammu gl) Sikkim (D) Himachal Pradesh

, ;
60.  The older Alluvium in river beds of Northern plains of India in the form of terraces found
~ abovethe flood plain level are known as
dar  (B) Bhabar (C) Terai (D) Bhangar

N

t the foot of the Himalayas in the Northern plains of India
scend on to the plains are called as

(C) Bhangar (D) Khadar

or Rough Work

Bns® Qon® ST ZPTE. L _ 202308GK1
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ﬂns OIS ERTTS ) ey TRLRT0D e 9
(A) 3 O3 EB) o o
(C) 0 AEperno® Qe | 80) WO Q¢H

B8 B0 mmemne), ©TIRT OFT IR ? f:r:,
(4) axnteoroE  (B) om0 _?EC) 33083 Qe (D) Roxed Qe

Mﬂﬁ Od3 T2, /BLOTRTIEBTY), , 8, T T %OD ORI, O BedSrish A 9
(A) o03oesd03 (B) =33 @) X80 (D) &mnese F&es

1 ﬂ/wtﬁd V3T WO FRBW IOH :wcs@cba BIH P, I wabed YFos

FoeOTHE FOTUNY CRTHE, QTRTY, 20w wmmmgd
(A) (B) gowo’ (€) 23, (D) worto*

OO Hegdsy wobeo FrsY PYOINT LRUST ¢ WONORE,, HTRODT
QPO CogRYTdEs BQFeR/ivod BRBE WO TSI QO FFODTNIT.
(B) 3% (C) wono* (D) a»zot
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62. A term which does not refer to social movements but to a widespread attitude iy socictyof

rejection of alien persons ? ol
(i) Routinization  (B) Adaptation (C) Nativism (D) Revitalization
63. The Apatani tribal community lives in
(A) Karnataka (B) Kerala
(C) Maharashtra (D) Arunachal Pradesh
64, A tribal community in India which is still having hunting-gathering based economy ?
(A) Todas (B) Jarawas (C) Khasi (D) Oraons
65. Who is the pioneer for the structural functional school of thought ?
(A) A.L.Kroeber (B) Radcliffe Brown (C) Hoebel (D) B. Malinowski

- 66. 'I‘ribai don inated areas in the North-east Incha comes under the schedule of the

. (A) 3@' on of India. s 80) s o

C: _ ine — Molar _l—‘f'(B) Canine — Incisor — Premolar — Molar
Canine — Incisor -g)) Incisor — Canine — Premolar — Molar

ributaries of the nver Ganges.
‘50) Damodar (D) Sone
=

du men is an example of
rearea (D) Cultural complex

2Ina® Qo' a‘bmgﬁjao‘.
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71.  Choose the correct pair of words.
(A) Deshabandhu : Dr. Rajendra Prasad

(C) Guruji . Rabindranath Tagore

(B) Deenabandhu : C.F. Andrews
(D) Payyoli Express : Milkha Singh

72. In the following question, four groups of letters are given, out of which three are alike in a
" certain way while one is different. Choose the odd one.

(A) TVXY (B) EGHI (C) IJLMN (D) OQRS

73. Anil and Akash are brothers. Ananya and Akshatha are sisters. Anil’s son is Akshatha’s
brother. How is Akash related to Ananya ?

(A) Grandfather (B) Father (C) Uncle (D) Brother

i Choosethe Venn diagram which best illustrates the relationship between the foIlowing three

2 Q
s of the people are determined by culture.
y the miembers of a given group.

is an example of ascribed status ?
Head  (C) Minister (D) Lawyer

(D) San Jose

3ns® dont E:bmgﬁfac:‘.
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7¢. Which of the following statement is wrong with respect to pos:ton of hands of clock ?
(A) None of these

(B) In every 12 hours the two hands are at right angles 24 times.

(C) In every 12 hours both hands are in opposite direction 11 times.

(D) In every 12 hours, the two hands are in the same straight line 22 times.

75, If2™ October, 2007 was a Tuesday, what was the day on 12t January, 2012 ?-
‘ (A) Friday (B) Tuesday (C) Monday (D) Thursday

80 HRp=S Q= R= %" and S = ‘+’, then
I0RI0S10P10QIO=? :
(a) 100 (B) 0 (€) 10" (D) 5

81. Fmdwwhﬁame of the figures does not belong to that group ?

il &
®) [ | 8(0) ZB (D)

. set of ef:gfu;féanyllng certain characters is given, Assuming
et fo similar pattern, find the mi
zzs_ﬁ 195 ssing character.

(D) 32

. 1;119 same way as Abraham is related to

—_—

(ﬁ) Isla.m
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Find the maximum number of trees which can be planted 10 m apart on the two sides of a

" straight road 880 m long.
5\ ;A) 176 (B) 88 (€) 178 (D) 89

John buys a printer for ¥ 5,000 and sells it for ¥ 3,000. Find his loss percent.
. (A) 30% (B) 45% ~(C) 40% (D) 20%

Find the mean proportional between 441 and 1024. :

(A) 672 (B) 953 (C) 534 (D) 732

If speed of 5‘21" m/s is converted to km/h, then it would be

(A) 15 kmv/hr (B) 19.8 km/hr (C) 5.5 km/hr (D) 18.5 km/hr

; 28
§+§—4 andx +§= 1, then what is x + yguaj to ?
A) 11 el (B) 8 8(C) 9 (D) 10

mwmg quesuon ﬁnd out the ansu%,ﬁgure which completes the question figure

D *

(D) 1.0

(D) 320
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(A) 176 (B) 88

nY9. 10 Qoessone €90305E), SBWBOTOT rioas&

(C) 178 (D) 89

;/*ma‘ Q0LT* eab TR. 5000 & &mom&asbma W0B) Y dr. 3000 g BRTITHH. /T
mgmm noTLERD.

- (A) 30% (B) 45% (C) 40% (D) 20%

81 441 OB 1024 T IR Xooxo emmw@t BOWO ROWD.
s
(A) 672 (B) 953 (©) 534 (D) 732

1 :
88, LOTD T 55 0e/X. Bert@y 8.20¢. /0. K OBEFATOR SN STWNHNIES 2
(A) 158.0¢e./m0.  (B) 19.8 8.a0¢./m0. (C) 5.5 8.Q0¢./R0. (D) 18.5 8.8%0¢. /0.

o
89 wmm# hs —450&3% 3 1, 6ﬁddx+yoﬁa@ﬁi“mmﬁd3363?
‘_Z (&) 11 (B) 8 E ©) 9 D) 10
; :ﬁ-"-'-;aswm T3 uIB), T TE wso:b TR0, 110053 6030 U, MOTOERO.
R
]
L
f=y
)
o
I.JE_} _
A * ® * * *
®| * (©) o| *®
e g L2 ¢ * *

_*32:81 aa'amdd a’ odgqj‘m:iﬁdﬁu DT ?

(C) 0.01 D) 1.0

(D) 320
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94

9s.

97.

98.

lw.

; ; i ary 2022.
The Government of India officially handed over Air India to Tata Group in January
e Gov

he deal ?
t was the total value of t |
(\:1)131 20.000 crore  (B) T 10,000 crore (C) % 12,000 crore

(D) ¥ 18,000 crore
Vasanthalakshmi Narasimhachari is the winner of Nritya Kalanidhi Award 2023. She excels

i ?
in which of the following dance forms ? itk
(A) Kuchipudi and Kathakali (B) Kuchipudi and Bharatanatyam

(C) Bharatanatyam and Mohiniattam (D) Kathak and Manipuri

Who is the Chairperson of India’s National Commission for Women ?
(A) Shobha Karandlaje (B) Kushboo Sundar
(C) Smriti Irani (D) Rekha Sharma

In January 2023 the Shanghai Cooperation Organization (SCO) film festival was held in
Mumbai. Which of the following country is IEt the member of SCO ?
(A) Russia (B) Pakistan O)(C) Bangladesh (D) China

o
Government of India declared 15t Novemblﬁas “Janjatiya Gaurav Divas” dedicated to the
memory of brave tribal freedom fighters. November is the birthday of which of the

following tribal freedom fighter ? -

(A) Birsa Munda 5¥B) Jatra Bhagat

(C) Tirot Sing gn) Alluri Sitarama Raju
: il

NITI Aayog in collaboration with which O@e following foreign Government developed
and hosted E-Amrit portal, a one stop destination for all information on electric vehicles ?

(A) Germany (B) Israel (C) Japan (D) United Kingdom

As per Economic S_urvey 2022-23, National Green Hydrogen Mission is expected to enable
India to be energy independent by which year ?

(4 202 (B) 2030 (C) 2047 ©) 2050
Which state was 2 : - , ' .
Bottioultugs develo:::::?mm the “Best State for Horticulture 2022” award for promoting

(A) None of these
(C) Maharashtra

(B) Goa
(D) Tamil Nady
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(3: Scanned with OKEN Scanner



1 93 wR0 2022 TY ooz o0y e
AL RCAD)
/g =505 XY m@@ S 5 N Qo QOBCINTHY, 3P MRTT TIL0I0X.

A) TR. 20,000
(A) daes (B) ©0.10,000 dnets (C) i, 12,000 8ets (D) . 18,000 o3

2023 3¢ O
i 85 SUNS od.m; % 3 Smam TIRON Dedesay mos@a wdmomwabodmmhmd 9T

JLEF AU ot S it i, — ol e

A) 2SR
(A) 8oy MU@#@ (B) BRum@ 03 5Jogmows,0
(€) OSZL 0 VK d:aezoaesaso (D) 855* &0 aoeda)o
/95/ ROBT Tody €00 & B03nenc BINT T8 odndh ?
(A) BremSdocRe  (B) e oo (c) 3,8 B0 (D) Team BSmr

A6 =ISO 202388 & B0, EneesTTea SNFFAERD® (SCO) WORZ VBT TO0WDY,
TTON. 88 FINT o33 SoRB) SCO T XX }; DORTONG, 2
(A) o= (B) To8m3 (C) omzes (D) ez

7 P03 TETR) S0t 15 o) “stsiEia PO OBF 20 Hatak DI LOBI
WI03, FReTHHIT e o aas,m& 20RCNUT. FSor0F 15 T 9N IR
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